Whirlpool CE2950XSW1 04 - CABINET, WIRING HARNESS

CABINET PARTS

For Modek: CE2950XSW1

o O

FOR OADEMING INFORMATION HEFER TO PARTS #AICE LIST
3388331 6

F20-8-/2

Whirpool Commercial Whirlpool CE2950XSW1 Dryer Parts Parts Diagram 04 - CABINET, WIRING HARNESS

Item

1
15
16
18

Click on the part number to view part

Original Part Number Replaced By Status Part Description
688074 Bracket, Top Lock
354730 Bolt, 5/16-18 X 2 3/4
90984 Nut, 5/16-18
690236 Wire, Ground
238614 Bumper And Isolation
342601 279638 Clip
343641 681414 Screw, 10AB X 1/2
9416643 308685 Side Trim )
690261 279320 Block-Term
Clip, Harness Follwoing Parts
98997 Op.tionaI.Are Not Supplied On
— This Whirlpool Model. But Are
Available For Purchase.
688021 3357341 Bracket, Front Top Lock
690893 3396795 Cover, Terminal Block
238088 8066217 Hinge, Top
346368 Not Available Panel, Rear


http://www.pwslaundry.com/c-299422-commercial-whirlpool-ce2950xsw1-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-7802382-whirlpool-688074-dryer-bracket-top-lock.html
http://www.pwslaundry.com/i-7802027-whirlpool-354730-dryer-bolt-5-16-18-x-2-3-4.html
http://www.pwslaundry.com/i-7803255-whirlpool-90984-dryer-nut-5-16-18.html
http://www.pwslaundry.com/i-7802393-whirlpool-690236-washer-dryer-wire-ground.html
http://www.pwslaundry.com/i-7799948-whirlpool-238614-washer-dryer-bumper-and-isolation.html
http://www.pwslaundry.com/i-7800460-whirlpool-279638-dryer-clip.html
http://www.pwslaundry.com/i-10762871-whirlpool-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-10762952-whirlpool-308685-washer-dryer-side-trim.html
http://www.pwslaundry.com/i-7800450-whirlpool-279320-dryer-block-term.html
http://www.pwslaundry.com/i-7803290-whirlpool-98997-washer-dryer-clip-harness-follwoing-parts-optional-are-not-supplied-on-this-whirlpool-model-but-are-available-for-purchase.html
http://www.pwslaundry.com/i-7801593-whirlpool-3357341-dryer-bracket-front-top-lock.html
http://www.pwslaundry.com/i-7801816-whirlpool-3396795-dryer-cover-terminal-block.html
http://www.pwslaundry.com/i-7802632-whirlpool-8066217-dryer-hinge-top.html

29
30
33
34
37
38
39
40
41
42
44

46

66
70

71

72
87
89
90
91

98669
98234
349462
693994
693980
693984
693981
688222
295998
690847
690851
690848
98129
347207
353145
685203
3389441
695075
348780
660997
172455
687128
691366

660658

343481

685441

694871
337351
685763
696144
348023
694091
695656
697095
697097
697096
348205

427190
271172

279264
489069
280067
280064
280065

Not Available
Not Available

3400500
681414

660658

660658

W10299847
3388235
3390734
279570

Not Available

Not Available

681414
3394083

Not Available
487939

Lock, Front Top

Clip, U-Bend

Air Channel Box
Xxscrew, 10-12 X 1/2
Panel

Panel

Panel

Feet-Leveling

Lever, Door Switch
Cabinet Assembly
Cabinet (Golden Harvest)
Cabinet (Almond)

Screw, 6-20 X 1 1/16
Switch-Lid

Lock, Front Top

Clip

Door Catch Assembly
Motor-Drve

Base, Motor

Belt

Bolt, 3405245 5/16-18 X 3/4
Screw, 10AB X 1/2

Idler And Pulley Assembly

Clamp, Motor Mounting
343481 685441

Clamp, Motor Mounting
343481 685441

Clamp, Motor Mounting
343481 685441

Pulley-Motor

Switch, Centrifugal
Seal, Door

Latch

Hinge And Pin Assembly
Trim, Side Right Hand
Door

Panel, Toe (White)
Toe Panel

Panel, Toe (Almond)
Door, Front

Door Front

Door, Front

Handle, Door

Handle, Door

Handle, Door

Screw, 10AB X 1/2
Clip, Front Panel

Terminal Tinned And Brass
Panel

Terminal Block Screw Kit
Cone, Wedge

Locator, Top Lock
Screw, 1/4-20 x 7/8

Nut


http://www.pwslaundry.com/i-7803289-whirlpool-98669-dryer-lock-front-top.html
http://www.pwslaundry.com/i-2882793-whirlpool-98234-washer-dryer-clip-u-bend.html
http://www.pwslaundry.com/i-7800446-whirlpool-279264-dryer-air-channel-box.html
http://www.pwslaundry.com/i-10762953-whirlpool-489069-dryer-xxscrew-10-12-x-1-2.html
http://www.pwslaundry.com/i-7800499-whirlpool-280067-dryer-panel.html
http://www.pwslaundry.com/i-7800497-whirlpool-280064-dryer-panel.html
http://www.pwslaundry.com/i-7800498-whirlpool-280065-dryer-panel.html
http://www.pwslaundry.com/i-10762869-whirlpool-49621-dryer-feet-leveling.html
http://www.pwslaundry.com/i-7802401-whirlpool-691581-dryer-lever-door-switch.html
http://www.pwslaundry.com/i-7801834-whirlpool-3399580-dryer-cabinet-assembly.html
http://www.pwslaundry.com/i-7803283-whirlpool-98129-dryer-screw-6-20-x-1-1-16.html
http://www.pwslaundry.com/i-1397616-whirlpool-279347-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-2770973-whirlpool-18776-washer-dryer-lock-front-top.html
http://www.pwslaundry.com/i-7800444-whirlpool-279220-dryer-clip.html
http://www.pwslaundry.com/i-7801696-whirlpool-3389441-dryer-door-catch-assembly.html
http://www.pwslaundry.com/i-7800475-whirlpool-279827-dryer-motor-drve.html
http://www.pwslaundry.com/i-7801983-whirlpool-348780-dryer-base-motor.html
http://www.pwslaundry.com/i-7801966-whirlpool-341241-dryer-belt.html
http://www.pwslaundry.com/i-7801857-whirlpool-3400500-dryer-bolt-3405245-5-16-18-x-3-4.html
http://www.pwslaundry.com/i-10762871-whirlpool-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-7802400-whirlpool-691366-dryer-idler-and-pulley-assembly.html
http://www.pwslaundry.com/i-7802367-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-7802367-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-7802367-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-10762836-whirlpool-w10299847-washer-dryer-pulley-motor.html
http://www.pwslaundry.com/i-7801671-whirlpool-3388235-dryer-switch-centrifugal.html
http://www.pwslaundry.com/i-7801726-whirlpool-3390734-dryer-seal-door.html
http://www.pwslaundry.com/i-10762843-whirlpool-279570-washer-dryer-latch.html
http://www.pwslaundry.com/i-7801979-whirlpool-348023-dryer-hinge-and-pin-assembly.html
http://www.pwslaundry.com/i-7802416-whirlpool-694091-dryer-trim-side-right-hand.html
http://www.pwslaundry.com/i-7800500-whirlpool-280077-dryer-door.html
http://www.pwslaundry.com/i-7800482-whirlpool-279913-dryer-toe-panel.html
http://www.pwslaundry.com/i-7801981-whirlpool-348205-dryer-door-front.html
http://www.pwslaundry.com/i-7802390-whirlpool-689319-dryer-door-front.html
http://www.pwslaundry.com/i-7802389-whirlpool-689314-dryer-door-front.html
http://www.pwslaundry.com/i-7802380-whirlpool-686711-dryer-handle-door.html
http://www.pwslaundry.com/i-7802392-whirlpool-689586-dryer-handle-door.html
http://www.pwslaundry.com/i-7802387-whirlpool-689308-dryer-handle-door.html
http://www.pwslaundry.com/i-10762871-whirlpool-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-7801785-whirlpool-3394083-dryer-clip-front-panel.html
http://www.pwslaundry.com/i-7800448-whirlpool-279318-washer-dryer-terminal-tinned-and-brass-panel.html
http://www.pwslaundry.com/i-7800451-whirlpool-279393-washer-dryer-terminal-block-screw-kit.html
http://www.pwslaundry.com/i-7802036-whirlpool-356674-dryer-cone-wedge.html
http://www.pwslaundry.com/i-7802038-whirlpool-356837-dryer-locator-top-lock.html
http://www.pwslaundry.com/i-7802264-whirlpool-487939-dryer-nut.html

92 90984 Nut, 5/16-18

100 685449 Wire, Ground

102 132848 3400036 Screw, 10-24 X 1

laundry company*

laundry company®

laundry company*


http://www.pwslaundry.com/i-7803255-whirlpool-90984-dryer-nut-5-16-18.html
http://www.pwslaundry.com/i-7802378-whirlpool-685449-dryer-wire-ground.html
http://www.pwslaundry.com/i-7797642-whirlpool-22965-washer-dryer-strap-grounding.html
http://www.pwslaundry.com/i-7801845-whirlpool-3400036-washer-dryer-screw-10-24-x-1.html
http://www.pwslaundry.com/i-7802374-whirlpool-680762-dryer-nut.html

	Whirlpool CE2950XSW1 04 - CABINET, WIRING HARNESS

